6. The Awkward Turtle is competing in a race! Unfortunately his archnemesis, the Playful Bunny,
is also in the running. The two employ very different approaches: the Awkward Turtle takes the
first minute to accelerate to a slow and steady pace which he maintains through the remainder of
the race, while the Playful Bunny spends the first minute accelerating to faster and faster speeds
until she’s exhausted and has to stop and rest for a minute - and then she repeats this process
until the race is over. The graph below shows their speeds (in meters per minute), ¢ minutes into
the race. (Assume that the pattern shown continues for the duration of the race.)
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(a) (6 points) What is the Awkward Turtle’s average speed over the first two minutes of the
race? What is the Playful Bunny’s?

(b) (3 points) The Playful Bunny immediately gets ahead of the Awkward Turtle at the start of
the race. How many minutes into the race does the Awkward Turtle catch up to the Playful
Bunny for the first time? Justify your answer.

(c) (5 points) If the race is 60 meters total, who wins? Justify your answer.
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